Bl 7 AT Hh N (ThE 2&*&)5-5%%(&75‘)
NHETKEFEXRICHIEKERRIS
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1TX PP¢50, 25, 20, 13 & (AKK- FAHEB)

4 s Wi PR O A e
[#&51] RV F LA ¢ 504 7% 265.0+0.4 ((EBIF) =265.4
PR
RYxF LA ¢ 50 265.0 + 1.1 266.1 m
FaAK3
RYxF LA $ 25 1.2 1.2 m
k2 Hoka
RYxF LA $ 20 36 + 45 8.1 m
Bkl HaKk5 #k6
RYxF LA ¢ 13 36.0 + 3.6 + 96 492 m
e
PP LA $50 2 2 8
pPPF—X $ 50X ¢ 50 1 1 8
PP/ $ 50 6 6 8
FaAK3
PV ook $ 25 1 1 8
k2 ok
PV ook $ 20 3 0+ 1 4 8
ekl HaKk5 #k6
PV ook $ 13 8 + 3 + 2 13 8
texry 7 ¢ 40 2 2 1
D
VIR — AT $ 50 2 2 8
B
FCD&EUT-G1F $ 50 1 1 8
(e
e JWWA B 132 1 X 3 3 HL
EEIPZA
e PR25 (K) 2 X 3 6 &
e
e RA25(A) 1 X 3 3 &
TR
e RC25(C) 1 X 3 3 &
JEEhR
e RS25 (S) 1 X 3 3 &
SUS=7 £+
MFY a1k $50 6 6 i
EFE YR 7KE2 | ¢ 150 X ¢ 50 1 1 8
DIPE ARV 53 K| ¢ 150 X ¢ 50 1 1 8
A3
PPE YR 37k | ¢ 50X ¢ 25 1 1 ]
K2 fa7ka
PPE YRI5 7K | ¢ 50X 6 20 3+ 1 4 8
a1 k5 K6
PPE Ak 950X ¢ 13 8 + 3 + 2 13 8
EWHRT—T FALAEL | 2661 + 1.2 + 8.1 + 492 3246 m
~—J—#i 20 20 18




I T.X PP ¢ 50, 25, 20, 13

Ji%5 (A T/kHHEI)

& itk WME R OGHER R
[955%]
RV xF L E T ¢ 50 266.1 266.1 m
AU L AiRE T $ 25 1.2 1.2 m
AU L AiRE T $ 20 8.1 8.1 m
RV xF L E T ¢ 13 49.2 492 m
B Fe X Virvh PR
PPAET T ¢ 50 4+ 3 o+ 12 + 2 21 5]
B Fe X Virvh PR
PPHET T $ 25 + + 2 o+ 1 3 a]
B Fe X Virvh PR
PPAET T $ 20 + + 8 o+ 4 12 5]
B Fe X Virvh PR
PPAET T ¢ 13 + + 2+ 13 39 5]
EREET
)t E L ¢ 50 3 3 T
MFaAf b
A= TINAETF T $ 50 6 6 A
MFaAf b
TSUUMTET. 6658 6 6 H
EFE H
7k Bt T ¢ 150 X ¢ 50 1 1 T
DIPE H
7k Bt T ¢ 150 X ¢ 50 1 1 T
PPE H
7k Bt T 650X ¢ 25 1 1 T
PPE H
7k Bt T 650X ¢ 20 4 4 T
PPE H
7k Bt T 650X ¢ 13 13 13 @&
650 & 25 ¢ 20 b 13
BHRY—RL 266.1 + 1.2 + 8.1 + 49.2 3246 m




LT (AR TR TEENREE

., . R T T - e ] oe
4w %ok F — — — —- ﬁig’ AL
RN T As, t=15cm2L F 532.8 2.4 16.2 98.4 4.0 653.8| m 650
AREIRE T | As, t=10emPL T 159.8 0.7 4.9 29.5 1.2 196.1 | m® 196
PRI B B+ 163.0 0.5 3.6 21.6 1.1 189.8 | m’ 190
HD LT RC-40 65.5 0.1 0.8 4.7 0.9 72.0 | m° 70
HORLT b 72.8 0.3 2.1 12.4 87.6 | m’ 90
js i) e 163.0 0.5 3.6 21.6 1.1 189.8 | m® 190
T T 163.0 0.5 3.6 21.6 1.1 189.8 | m® 190
FEHLABE As 6.4 0.03 0.2 1.2 0.1 7.9 m’ 8
iU As 6.4 0.03 0.2 1.2 0.1 79| m’ 8
1B UESENR - AL 1 0.49 0.002 0.01 0.09 0.004 0.60 | m® 0.6
AT RC-40, t=16cm 159.8 0.7 4.9 29.5 1.2 196.1 | m® 196
7 2 BT FEAs t=3cm 159. . . . . 1| m
REIHT AR EAS(13) t=3 59.8 0.7 4.9 29.5 1.2 196.1 | m® 196




L1447 1-1 TEHE As PP ¢ 50 DP=0.90m
+TIEE L= 2654 +1.0 = 266.4 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
& N . 4 8
T
| BEET -
i RC-40 &
|
: !
i W | IEHIlE] 0.600
o i DI | %48 0.060
= g - HHIRA 1ERH - pP | +#0 | 0.900
i RC-40 = H1 |4EiiEl 1.060
i H2 | #EHIE[ 1.020
IEHR hl |#LE#] 0.410
Stk , h | ® @[ o.460
i g‘
|
B =1
i 5| <
{
' 8
; had 4
w
( 266.4 m H7-0EE)
£ Fr iR NI EF 7 B = B &
EfiZE oI T As, t=15cmbl F 2.0 X 266.4 m 532.8
SRR T As, t=10cnPL F 0.6 X 266.4 m’| 159.8
A T B wE 1t 0.6 X 1.02 X 266.4 m’ | 163.0
HEHELT. RC-40 0.6 X 041 X 266.4 m* 65.5
o RELT il
HHRLT b (06 X 046 — 006 2 X x,/4)X 2664 |m® 72.8
Tt A
7 A5y wEt 163.0 m®|  163.0
P As 0.6 X 0.04 X 266.4 m? 6.4
BT As m’ 6.4
15 VR - 105 T 0.023 X 0.04 X 532.8 m* 0.49
B T RC-40, t=16cm 0.6 X 266.4 m’| 159.8
AR EAS(13)
FEIRT t=3cm 0.6 X 266.4 m’| 159.8




T T & &
147" 1-5 TEEIE As PP ¢ 25 DP=0.65m
+TIEE L= 1.2 = 1.2 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
g "\ . A 8
T
| BEET -
i RC-40 &
|
|
i W | IEHIlE] 0.600
o i DI | %48 0.034
= g - HHIRA 1ERH - pDP | +#0 | 0.650
i RC-40 = H1 | smiiE o.784
i H2 | #EHIE| 0.744
IS nt [#EH] 0.160
—F h @ & 0434
i =%
i 2
b {
i 5| <
{
i 8
; st 4
\ oD
( 1.2 m Y47=0h¥E)
£ R iR NI EF H B = B &
L E As, t=15emBL F 20 X 1.2 m 2.4
SEERREEE T As, t=10ecmPL T 0.6 X 1.2 m? 07
" E T B mE 1+ 0.6 X 0744 X 1.2 m’ 0.5
HEHELT. RC-40 06 X 016 X 1.2 m* 0.1
HHERLT il
HHRLT b (0.6 X 0434 — 00342 X g,/4)xX 1.2 m? 0.3
Tt
-5y e 1 0.5 m? 0.5
FELALEE As 0.6 X 004 X 1.2 m? 0.03
ALy As m’ 0.03
V5 ETERR - L) T 0.023 X 0.04 X 24 m* | 0.002
B T RC-40, t=16cm 0.6 X 1.2 e 0.7
BB RIEEAS(13)
FEIRT t=3cm 0.6 X 1.2 m’ 0.7




T T & &
147" 1-6 TEEIE As PP ¢ 20 DP=0.65m
+TIEE L= 8.1 = 8.1 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
g "\ _ A 8
T
| BEET -
i RC-40 &
|
|
i W | IEHIlE] 0.600
o i DI | %4 0.027
= g - HHIRA 1ERH - pDP | +#0 | 0.650
i RC-40 = H1 |4miiEl o.777
i H2 | #EHIm| 0.737
IS hi |#EEH| 0.160
—F h [ & o.427
i =%
i 2
b {
i 5| <
{
i 8
; st 4
\ﬂ
( 8.1 m Y/-biE)
£ R iR NI EF H B = B &
EfiZE oI T As, t=15cmbl F 20 X 81 m 16.2
SEERREEE T As, t=10ecmPL T 0.6 X 8.1 m? 49
A T B wE 1t 0.6 X 0.737 X 8.1 m’ 3.6
HEHELT. RC-40 0.6 X 016 X 8.1 m* 0.8
HHERLT il
HHRLT b (0.6 X 0427 — 0.027 2 X 7,/4)x 8.1 m? 2.1
Tt A
-5y e 1 3.6 m? 3.6
FRIRALEE As 0.6 X 004 X 8.1 m’ 0.2
ALy As m’ 0.2
15 VR - 105 T 0.023 X 0.04 X 16.2 m* 0.01
% A T RC-40, t=16cm 06 X 8.1 m? 4.9
BB RIEEAS(13)
FEIRT t=3cm 0.6 X 8.1 m’ 4.9




147" 1-7 THEHIE As PP ¢ 13 DP=0.65m
LT TR L= 49.2 = 49.2 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
g "\ _ A 8
T
| BEET -
i RC-40 &
|
; !
i W | IEHIlE] 0.600
o i DI |#&4heE| 0.022
= g - HHIRA 1ERH - pDP | +#0 | 0.650
i RC-40 = H1 el 0.772
i H2 | #EHIE 0.732
BT hl |#LE#| 0.160
Stk , h |® & 0.422
i =%
i =
1) 4
i 5| <
{
' 8
; had 4
\ﬂ
( 49.2 m M7-0EE)
£ Fr iR NI EF ES B = B &
EfiZE oI T As, t=15cmbl F 2.0 X 492 m 98.4
SRR T As, t=10cnPL F 0.6 X 49.2 m’ 29.5
A T B wE 1t 0.6 X 0.732 X 49.2 m® 21.6
HEHELT. RC-40 0.6 X 0.16 X 492 m* 4.7
o RELT il
HHRELT b (06 X 0422 — 0.022 2 X x,/4)X 49.2 m? 12.4
Tt A
7 A5y WE 1 21.6 m* 21.6
P As 0.6 X 0.04 X 49.2 m? 1.2
FRBRAL Sy B As m? 1.2
15 VR - 105 T 0.023 X 0.04 X 984 m* 0.09
AR T RC-40, t=16cm 0.6 X 49.2 m’ 29.5
BB RIEEAS(13)
FEIRT t=3cm 0.6 X 49.2 m? 29.5




T T & &
147" 2 AHEEE As VP ¢ 40 DP=0.90m
+TIEE = 1.0 +1.0 = 2.0 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
& N . 4 8
T
| BEET -
i RC-40 &
|
j
i W | IEHIlE] 0.600
o i DI | %48 0.048
= g - HHIRA 1ERH - pP | +#0 | 0.900
i RC-40 = H1 |4EiiE] 0.948
i H2 | #EHIE|[ 0.908
i hl || 0.770
i h |® &[ 0.000
i ot
l y
: ‘_k
i =
y
i Y
| Ov
!
\ oD
( 2.0 m HvlE)
£ R iR NI EF &t -1 = B &
Sz BN T As, t=15emEL F 200 X 2.0 m 4.0
SRR T As, t=10cnPL F 0.60 X 2.0 m’ 1.2
A T B wE 1t 0.60 X 0.908 X 2.0 m® 1.1
LT RC-40 0.60 X 0770 X 2.0 m* 0.9
LT il
HWHRLT Hh m’
Tt A
7 A5y wEt 1.10 m* 1.1
FRIRALEE As 0.60 X 0.04 X 20 m’ 0.1
PR As m* 0.1
15 VR - 105 T 0.023 X 004 X 4.0 m®|  0.004
B T RC-40, t=16cm 0.60 X 2.0 m’ 1.2
AR EAS(13)
FEIRT t=3cm 0.60 X 2.0 m? 1.2
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21X PP¢50, 30, 20, 13 BM -5 (K- F/AKE )

& itk WME R OGHER R
[#&51] ABVEF LA ¢ 5047% 6.8+0.2 ((EEIF) = 7.0 m
RYxF LA ¢ 50 6.8 6.8 m
RYzFL A ¢ 30 34.3 343 m
fak2
RYxF LA $ 20 0.6 0.6 m
Fakl #Ak3 fak4
RYxF LA ¢ 13 05 + 36 + 06 + 06 5.3 m
PPREEF—X $ 30X ¢20 1 1 8
PPREEF—X $30X ¢ 13 2 2 8
PPEAE/ 4k $ 50X ¢ 30 1 1 8
PPEAE/ 4k $30X ¢ 13 1 1 8
PV ook $ 20 1 1 8
PV ook $ 13 3 3 8
PP LA ¢ 13 1 1 {8
Xy ¢ 50 1 1 8
D
VIR — AT $ 50 1 1 8
(e
e JWWA B 132 1 1 HL
EEIPZA
e PR25 (K) 2 2 &
A
e RAC25(CA) 1 1 &
JEChR
e RS25 (S) 1 1 &
SUSaT A
MFPaA b $50 2 2 8
DIPE ARV 53 K| ¢ 150 X ¢ 50 1 ]
650 ¢ 30 ¢ 20 b 13
EHRT—T TILE L 6.8 + 343 + 06 + 53 470 m
< —H—H 7 7 &
[955%]
RV F L E T $50 7.0 7.0 m
RV F L E T $30 34.3 343 m
RV F L E T $20 0.6 0.6 m
RV F L E T ¢ 13 5.3 5.3 m
Fm R Vo W
PPREF T ¢ 50 + 1 o+ 1 2 5]
From X VAroh W
PPREF T ¢ 30 6 + 2 4+ 8 5]
F—Z Yk YR
PPREF T $ 20 1+ 2 o+ 3 5]
TR VAuh B
PPREF T ¢ 13 2 o+ 7+ 2 11 5]
ERES T
fEOIFE T ¢ 50 1 1 T
MFVaAf b
A= INHEET ¢ 50 2 2 5]
MFVaAf b
TIUMET 66584 2 2 a]
DIPE H
AT T ¢ 150 X ¢ 50 1 1 T
650 ¢ 30 ¢ 20 613
BERS— ML 6.8 + 343 + 06 + 5.3 470 m

_11_




AZIA

2TK (KRR FAHM) +THEHRE

., . R T T - e ] oe
4w %ok F — — — —- ﬁif AL

RN T As, t=15cmL F 14.0 68.6 1.2 10.6 2.0 96.4| m 96
AREIRE T | As, t=10emPL T 4.2 20.6 0.4 3.2 0.6 29.0 | m® 29
PRI B B+ 3.2 15.5 0.3 2.3 0.4 21.7 | m’ 20
HD LT RC-40 0.7 3.3 0.1 0.5 0.3 49| m’ 5
O REL T T 1.9 9.0 0.2 1.3 124 m’® 10
js i) e 3.2 15.5 0.3 2.3 0.4 21.7 | m’ 20
B T 3.2 15.5 0.3 2.3 0.4 21.7 | m® 20
FERALEE As 0.2 0.82 0.01 0.1 0.02 1.2 m’ 1
FRBRALV As 0.2 0.82 0.01 0.1 0.02 1.2 m® 1
1B UESENR - AL 1 0.01 0.063 0.001 0.01 0.002 0.09 | m® 0.1
AT RC-40, t=16cm 4.2 20.6 0.4 3.2 0.6 29.0 | m® 29
IR T FA BRI EEAS(13) t=3cm 4.2 20.6 0.4 3.2 0.6 29.0 | m® 29




T T & &
+ 1447 1-2 TEEIE As PP ¢ 50 DP=0.65m
+TIEE = 7.0 = 7.0 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
& N . 4 8
T
| BEET -
i RC-40 &
|
j
i W | IEHIlE] 0.600
o i DI | %48 0.060
= g - HHIRA 1ERH - pDP | +#0 | 0.650
i RC-40 = H1 |4EiiEl o.810
i H2 | #EHIE|[ 0.770
ISR hl |#LE#| 0.160
—F h | ® @[ o.460
i =%
[ 3
3 {
i 5| <
{
! 8
; had 4
\ oD
( 7.0 m H70¥E)
£ Fr iR NI EF 7 B = B &
EfiZE oI T As, t=15cmbl F 200 X 7.0 m 14.0
SRR T As, t=10cnPL F 0.60 X 7.0 m’ 4.2
A T B wE 1t 0.60 X 0770 X 7.0 m’ 3.2
HEHELT. RC-40 0.60 X 0.160 X 7.0 m* 0.7
o RELT il
HHERELT 1 (060 X 0.460 — 0.060 > X z,/4)X 7.0 m 1.9
Tt A
7 A5y wEt 3.20 m* 3.2
FRIRALEE As 0.60 X 0.04 X 7.0 m’ 0.2
ALy As m’ 0.2
15 VR - 105 T 0.023 X 0.04 X 14.0 m* 0.01
B T RC-40, t=16cm 0.60 X 7.0 m’ 4.2
AR EAS(13)
FEIRT t=3cm 0.60 X 7.0 m? 4.2

_13_




+ 1447 1-4 TEHIE As PP ¢ 30 DP=0.65m
+TiEE L= 34.3 = 34.3 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
& N . 4 8
T
| BEET -
i RC-40 &
|
: !
i W | IEHIlE] 0.600
o i DI | %4 0.042
= g - HORIEY ERM - pDP | +#0 | 0.650
| RC-40 <= 01 |msiE| 0.792
i H2 | #EHIE| 0.752
IEHR hl |#LE#| 0.160
Stk , h | & o442
i =%
[ 34
1) 4
i 5| <
{
' 8
; had 4
w
( 34.3 m MR
£ Fr iR NI EF 7 B = B &
EfiZE oI T As, t=15cmbl F 2.00 X 343 m 68.6
SRR T As, t=10cnPL F 0.60 X 34.3 m’ 20.6
A T B wE 1t 0.60 X 0.752 X 34.3 m’ 15.5
LT RC-40 0.60 X 0.160 X 34.3 m* 3.3
o RELT il
HHRLT b ( 060 X 0442 — 0.042 2 X /4 )X 343 m? 9.0
Tt
7 A5y WE 1 15.50 m* 15.5
P As 0.60 X 0.04 X 34.3 m? 0.82
PR As m® 0.82
THIEERR - L5 T 0.023 X 0.04 X 68.6 m®|  0.063
AR T RC-40, t=16cm 0.60 X 34.3 m’ 20.6
AR EAS(13)
FHEIET t=3cm 0.60 X 34.3 m’ 20.6
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T T & &
147" 1-6 TEEIE As PP ¢ 20 DP=0.65m
1 TR = 0.6 = 0.6 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
g "\ _ A 8
T
| BEET -
i RC-40 &
|
|
i W | IEHIlE] 0.600
o i DI | %4 0.027
= g - HHIRA 1ERH - pDP | +#0 | 0.650
i RC-40 = H1 |4miiEl o.777
i H2 | #EHIm| 0.737
ISR hl |#LE#| 0.160
—F h | ® @] o427
i =%
i S
3 {
i 5| <
{
i 8
; st 4
\ oD
( 0.6 m Y7-vixsE)
£ R iR NI EF H B = B &
EfiZE oI T As, t=15cmbl F 2.00 X 0.6 m 1.2
SEERREEE T As, t=10ecmPL T 0.60 X 0.6 m? 04
A T B wE 1t 0.60 X 0737 X 0.6 m’ 0.3
HEHELT. RC-40 0.60 X 0.160 X 0.6 m* 0.1
HHERLT il
HHRLT b (060 X 0427 — 0.027 2 X 7,/74)X 06 m? 0.2
Tt A
7 A5y wEt 0.30 m* 0.3
P As 0.60 X 004 X 0.6 m’ 0.01
ALy As m’ 0.01
V5 ETERR - L) T 0.023 X 0.04 X 1.2 m | 0.001
B T RC-40, t=16cm 0.60 X 0.6 m? 0.4
BB RIEEAS(13)
FEIRT t=3cm 0.60 X 0.6 m’ 0.4
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T T & &
+ 1447 1-7 TEEIE As PP¢ 13 DP=0.65m
1 TR L= 3.6 +0.6 + 0.6 + 0.5 = 5.3 m
. W
BEE%As t=4om EH | BR RIEIE BHAEZHAs t=3cm
g N _ ¢ 8
T
| BEET -
i RC-40 @
|
i
i W | IEHIlE] 0.600
o i DI |#&4heE| 0.022
= g - HORIEY ERM - pDP | +#0 | 0.650
| RC-40 <= n1 s o772
i H2 | #EHIE 0.732
ISR hi |#EEH| 0.160
S h [ & o422
i =%
i S
b {
i 5| <
{
! 8
; st 4
\L
( 5.3 m H7-bixE)
£ R iR NI EF H B = B &
EfiZE oI T As, t=15cmbl F 2.00 X 53 m 10.6
SEERREEE T As, t=10ecmPL T 0.60 X 5.3 m? 59
A T B wE 1t 060 X 0732 X 53 m’ 2.3
HEHELT. RC-40 0.60 X 0.160 X 5.3 m* 0.5
HHERLT Piliz et
HHRLT b (060 X 0422 — 00222 X 7,/4)X 53 m? 1.3
R+ 8
-5y e 1 2.30 m" 2.3
FRIRALEE As 0.60 X 0.04 X 53 m’ 0.1
ALy As m’ 0.1
V5 ETERR - L) T 0.023 X 0.04 X 10.6 m’ 0.01
B T RC-40, t=16cm 0.60 X 5.3 m? 3.2
BEE R EEAS(13)
FEIRT t=3cm 0.60 X 5.3 m’ 3.2

- 16




T T & &
147" =1 FEEE As VP ¢ 50 DP=0.65m
+TIEE = 1.0 = 1.0 m
. W
BEE%As t=4om EH | BR RIEIH HEZFiAs t=3cm
g "\ _ A 8
T
| BEET -
i RC-40 &
|
; A
i W | IEHIlE] 0.600
o i DI | %48 0.060
= g - HORIEY ERM - pDP | +#0 | 0.650
| RC-40 <= 01 | msiE] 0.710
i H2 | #EHIE[ 0.670
i hl [#EH| 0.520
i h [ & 0.000
i ot
l y
: ‘_k
i 1=
{
I
| Ov v
!
\ oD
( 1.0 m Y47=0v¥E)
£ R iR NI EF &t B = B &
Sz BN T As, t=15emEL F 200 X 1.0 m 2.0
SEERREEE T As, t=10ecmPL T 0.60 x 1.0 m? 0.6
A T B wE 1t 0.60 X 0.670 X 1.0 m’ 0.4
HEHELT. RC-40 0.60 X 0.520 X 1.0 m* 0.3
HHERLT il
HWHRLT 1 m’
[ Y ES T
7 A5y wEt 0.40 — + 0.9 m* 0.4
P As 0.60 X 004 X 1.0 m’ 0.02
ALy As m’ 0.02
15 VR - 105 T 0.023 X 004 X 2.0 m®|  0.002
B T RC-40, t=16cm 0.60 X 1.0 e 0.6
BB RIEEAS(13)
FHEIET t=3cm 060 X 1.0 m’ 0.6

_17_




K

B_J'I-

> FH BT 3 [N (T 2&*&)5-5%%(&75‘)

NETIKESBFICHIEKERRIE

HEFTHEE

STRX (AE%-{RER)

gluTh ETKES LKER

_18_



3T.IX PP¢25, 20 B -8 (K- FAHB)

U O A=V

E BitE BB |
[%44]
RYxFLE 625 38.0 38 m
#a7k2
Ry FL B ¢ 20 0.5 + 33 3.8 | m
PPHAR vk 625X ¢ 20 1 1 &
PPY 41 620 1 1 ]
PPa/LIR ¢ 20 1 1 1
BWRT—7 | TAEEL 41.8 | m
~—J—ki 2 2 1
[95%]
RYTFL AR T ¢ 25 38 m
RYZFL o E A% L 620 3.8 m
PPl T T 025 1 5]
EVi%iS Vi
PPiigF T 620 5 5]
FH Y —hT 41.8 | m

_19_



4084

STIX (ARG TA%EE) LT HEHRE

. A e LLZAY oabuc | maHE
ST T As, t=15ecmPL T 76.0 7.6 83.6 [ m 84.0
BEEERREUE T [ As, t=10ecmPA T 22.8 2.3 25.1 [ m® 25
I T bk w0 L 17.0 1.7 18.7 | m’ 20
HHRL T RC—40 3.6 0.4 4.0 | m’ 4
HHRL T w 9.9 1.0 109 | m’ 10
Fe LAy WE 1 17.0 1.7 18.7 | m® 20
B T 17.0 1.7 18.7 | m’ 20
FRBBALTE As 0.91 0.1 1.0 ]| m’ 1
FRBAL > H As 0.91 0.1 1.0 m* 1
75 VR - 20y T 0.070 0.01 0.08 | m® 0.1
AR T RC-40, t=16cm 22.8 2.3 25.1 | m® 25
A IH T F/EBRIEAS3) t=3cm 22.8 2.3 25.1 | m* 25




+t T e K

+TH47° 1-5 FIEHE As PP ¢ 25 DP=0.65m
+TIEE L= 38.0 e 38.0 m
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ % 8
T
i BEEET 5
i RC-40 =]
!
!
l W [smE0E] 0.600
a } DI |%4ME| 0.034
= 2| ° IR BRH — pP_ | 40| 0.650
| RC-40 = H1 [mAE] 0.784
} H2 | #HIE)| 0.744
=P hl |#HE#M| 0.160
=k \ h[# & 0434
| (o3
i S
[ —
| 5| =
‘ 8“
1 . 4
\ ¢D
( 38.0 m 47=0niE)
4 Fr B R S Ik # B = Bl &
B DI T As, t=15emEL F 2.00 X 380 m 76.0
EhLERR B EE T As, t=10cmEA T 0.60 X 38.0 m’ 29.8
BoE T Btk mE+ 0.60 X 0.744 X 38.0 m’ 17.0
LT RC-40 0.60 X 0.160 X 38.0 m’ 3.6
HWHBRLT HiH
HHELT b ( 0.60 X 0434 — 0.034 > X 7,/4)x 38.0 m? 9.9
Rl
¥ sy weg 1 17.00 m* 17.0
Fesf As 0.60 X 0.04 X 38.0 m® 0.91
AT As m* 0.91
T VEER - 54y T 0.023 X 0.04 X 76.0 m®| 0.070
WA T RC-40, t=16cm 0.60 X 38.0 m® 22.8
AR EAS(13)
FEIHT t=3cm 0.60 X 38.0 m* 22.8
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+t T e K

+TH47° 1-6 FIEHE As PP ¢ 20 DP=0.65m
+TIEE L= 0.5 +3.3 e 3.8 m
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ % 8
T
i BEEET 5
i RC-40 3
!
!
l W [smE0E] 0.600
a } DI |%4hE| 0.027
= 2| ° IR BRH — pP_ | 40| 0.650
| RC-40 = Hi [msiE] 0.777
| H2 |dedilsE] 0.737
=P hl |#HE#M| 0.160
=k \ h | # & 0427
| (o3
i S
[ —
| 5| =
‘ 8“
1 Y y
\ ¢D
( 3.8 m H7=0EE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 3.8 m 7.6
EhLERR B EE T As, t=10cmEA T 0.60 X 3.8 m’ 2.3
BoE T Btk mE+ 0.60 X 0.737 X 3.8 m’ 1.7
LT RC-40 0.60 X 0.160 X 3.8 m’ 0.4
HWHBRLT HiH
HHRLTL b ( 0.60 X 0.427 — 0.027 > X z,/4)x 3.8 m? 1.0
Rl
Ay W+ 1.70 m* 1.7
Fesf As 0.60 X 0.04 X 3.8 m® 0.1
AT As m* 0.1
T VEER - 54y T 0.023 X 0.04 X 7.6 m* 0.01
B M T RC-40, t=16¢cm 0.60 X 3.8 m’ 2.3
AR EAS(13)
FEIHT t=3cm 0.60 X 3.8 m* 2.3
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3T.IX PP¢25, 20 B -8 (Ek- FAHBL)

U O A=V

& HitE B & | s
[#41]
RYxFL & 625 40 40 m
HE7k2
A= FLE 6 20 0.5 + 1.0 1.5 m
PP LR 025 2 2 i
PPa/LR $ 20 3 3 il
PPREEY vk b 25X $ 20 1 1 [El
RIRE 625 40 40 m
RiEfA $ 20 0.5 0.5 m
[55%]
AU F LR L ¢ 25 40 m
RY-F L BRI T ¢ 20 1.5 m
PPk T 625 5 m]
PP T $ 20 7 1
Rz FL oSk ¢ 25 40 m
RYTFL U EHET $ 20 1.5 m
AU FL FYIEr T 25 6 a
o BT GAF 17 kg
Rk
AT T $ 25 1 X 0.665 + X 0.720 2.1 kg
TR
$ 20 3 X 0.490 1.5 kg
sy OEE 3.6 kg
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szg

STIX (fidk - FRMHE)) TR

\ + L2147 Gt || BEEHE

£ PN 5172000 N N~ RE%1-3 | R
(JH R B—*f) (%‘HB—%}

ARG T As, t=15cmPL T 1.0 1.0| m 1
SPEMREEE T | As, t=10emL T 0.3 0.3 0.6 | m° 1
HEHI T ek g - 0.1 0.1 02| m® 0.2
HH LT RC-40 0.04 0.04 0.08 | m* 0.08
HHRL L i e m®
WHEL T b m®
sy e 4= 0.1 0.1 0.2 | m® 0.2
TR T 0.1 0.1 0.2 | m’ 0.2
PRy AL As 0.01 0.01 0.02 | m® 0.02
ALY B As 0.01 0.01 0.02 | m* 0.02
TEIEE - L5 T 0.001 0.001 | m?® 0.001
AT RC-40, t=16cm 0.3 0.3 0.6 | m® 1
B IHT AR EEAS(13) t=3cm 0.3 0.3 0.6 | m? 1




+t T e K

+TH47° ] HE%1-3 FIEHE As PP ¢ 20 DP=0.30m
+ TR L= 0.5 = 0.5 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
g "\ ¢ 8
|
' | BT -
i RC-40 3
|
!
l W [smE0E] 0.600
a } DI |%4hE| 0.027
= 2 = MRS R ~ pP_ | v [ 0.300
| RC-40 < n1 | HhiE o.327
1 H2 |didilis| 0.287
i he  |#EHM]| 0.137
: h [
|
|
D ‘—A
i [
I\
|
RERE ¢D
( 0.5 m 47=h¥EKE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 0.5 m 1.0
SRR U T As, t=10mEL T 0.60 X 0.5 m? 0.3
BoE T Btk mE+ ( 060 X 0287 — 0.027 % X z,/4)X 0.5 m* 0.1
LT RC-40 0.60 X 0.137 X 05 me 0.04
WHERELT
WyERELT
Rl
¥ sy weg 1 0.10 m* 0.1
Fesf As 0.60 X 0.04 X 0.5 m® 0.01
B S g As m* 0.01
T VEER - 54y T 0.023 X 0.04 X 1.0 m®|  0.001
WA T RC-40, t=16cm 0.60 X 0.5 m® 0.3
AR EAS(13)
FEIHT t=3cm 0.60 X 0.5 m* 0.3
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+t T e K

+TH47° ] HE%1-3 FIEHE As PP ¢ 20 DP=0.30m
+ TR L= 0.5 = 0.5 m
(=R
< W L
BEE%As t=3cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
i RC-40 3
|
|
l W [smE0E] 0.600
a } DI |%4hE| 0.027
= 2 = MRS R ~ pP_ | v [ 0.300
| RC-40 < n1 | HhiE o.327
1 H2 |dedilE] 0.297
i h2 |HEHM| 0.137
: h [
|
|
C v_A
i [
I\
|
RERE ¢D
( 0.5 m 47=h¥EKE)
4 Fr B R S Ik # " = Bl &
FiE==)] [ As, t=15emEL T
SRR U T As, t=10mEL T 0.60 X 0.5 m? 0.3
BoE T Btk mE+ ( 0.60 X 0297 — 0.027 % X z,/4)X 0.5 m* 0.1
LT RC-40 0.60 X 0.137 X 05 me 0.04
WHERELT
WyERELT
fizlel iy
¥ sy weg 1 0.10 m* 0.1
Fesf As 0.60 X 0.03 X 0.5 m® 0.01
B S g As m* 0.01
VGURTERE - 504 T
WA T RC-40, t=16cm 0.60 X 0.5 m® 0.3
AR EAS(13)
FEIHT t=3cm 0.60 X 0.5 m* 0.3
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3T.IX PP¢30,25, 13 &M 5578 (A FAEM)

KON E R T
% F AL Vi B RO A H B |
[#41]
RYxFL & 630 1.0+ 1.0 2.0 m
R F L H 625 28.6 + 8.3 369 | m
RYeFL o 013 3.3 3.3 m
PPEARTF —X 630X ¢ 25 1 1 {i#l
PPRETF—X 625X ¢ 13 1 1 [El
PV vh 030 4 4 il
PPY 4 s $25 1 1 il
PPY 4 vk ¢ 13 1 1 1l
PPo/LAR 025 1 1 i
HEEE A 8 7 625 1 1 1
EOARE JWWA B 132 1 1 ik
EEEEIN
(LB FpE PR25 (K) 2 2 fi#
TR
(LB E RAC25(CA) 1 1 fi#l
JE IR
tEFfE RS25(S) I 1 Al
BFHRT—7 TIEAAEL 42.2 m
~ = —H 3 3 il
[%]
AV F L EAR L ¢ 30 2.0 m
AUz FLo Bk ¢ 25 36.9 m
AV F L E % T ¢ 13 3.3 m
FR Do
PPk T 10 1
PPk T 9 =)
PPk T 3 8]
HOFpEE T 1 AT
B —FL 42.2 | m
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4884

3L (AR FAHM) + THEFRE

T T2 A7

pa r P12 I N = TE T BatkE [ Har  RREHE
SHEE T As, t=15cmPA T 4.0 73.8 6.6 84.4| m 84.0
SEAREUEE T | As, t=10cmPL T 1.2 29.1 2.0 25.3 | m? 25
PRI T g wE L 1.2 16.5 1.4 19.1 | m’ 20
HHRELT RC—40 0.5 3.5 0.3 43| m’ 4
HHREL T b 0.5 9.6 0.8 10.9 | m® 10
LAY wE+ 1.2 16.5 1.4 19.1 | m® 20
B T 1.2 16.5 1.4 19.1 | m® 20
FeSALEE As 0.05 0.9 0.1 1.0| m’ 1
sl As 0.05 0.9 0.1 1.0 m® 1
1B ESENR - AL T 0.004 0.07 0.010 0.08 | m° 0.1
PEAE T RC-40, t=16cm 1.2 22.1 2.0 25.3 | m’ 25
AR T AR EAS(13) t=3cm 1.2 22.1 2.0 25.3 | m® 25




+t T e K

+TH47° 1-3 FIEHE As PP ¢ 30 DP=0.90m
+ TiER = 1.0 +1.0 e 2.0 m
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ % 8
T
i BEEET 5
| RC-40 =]
!
!
l W [smE0E] 0.600
a } DI |%4M8] 0.042
= 2| ° IR BRH — pP_ | 49| 0.900
| RC-40 = Hi [AvE] 1.042
1 H2 [dndiliE] 1002
=P hl |#HE#HM] 0.410
=k h | # @ 0.442
| (o3
i S
[ —
| 5| =
‘ gh
1 Y
\ ¢D
( 2.0 m H7=0EE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 2.0 m 4.0
EhLERR B EE T As, t=10cmEA T 0.60 X 2.0 m’ 1.2
oy T ek g+ 0.60 X 1.002 X 2.0 m* 1.2
LT RC-40 0.60 X 0.410 X 2.0 m’ 0.5
HWHBRLT HiH
HHELT b ( 0.60 X 0.442 — 0.042 > X z,/4)X 20 m? 0.5
e
Ay weg 1 1.20 m* 1.2
Fesf As 0.60 X 0.04 X 2.0 m® 0.05
AT As m* 0.05
T VEER - 54y T 0.023 X 0.04 X 4.0 m®|  0.004
B M T RC-40, t=16¢cm 0.60 X 2.0 m’ 1.2
AR EAS(13)
FEIHT t=3cm 0.60 X 2.0 m* 1.2
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+t T e K

+TH47° 1-5 FIEHE As PP ¢ 25 DP=0.65m
+TIEE L= 8.3 +28.6 e 36.9 m
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ % 8
T
i BEEET 5
i RC-40 =]
|
!
l W [smE0E] 0.600
a } DI |%4ME| 0.034
= 2| ° IR BRH — pP_ | 40| 0.650
| RC-40 = H1 [mAE] 0.784
} H2 | #HIE)| 0.744
=P hl |#HE#M| 0.160
=k ho | #0434
| (o3
i S
[ —
| 5| =
‘ gh
1 Y
\ ¢D
( 36.9 m 47=0iE)
4 Fr B R S Ik # B = Bl &
B DI T As, t=15emEL F 2.00 X 36.9 m 73.8
SRR U T As, t=10mEL T 0.60 X 36.9 m? 22.1
BoE T Btk mE+ 0.60 X 0.744 X 36.9 m’ 16.5
LT RC-40 0.60 X 0.160 X 36.9 m’ 3.5
HWHBRLT HiH
HHELT b ( 060 X 0434 — 0.034 > X n,/4)x 36.9 m? 9.6
Rl
¥ sy weg 1 16.50 m* 16.5
Fesf As 0.60 X 0.04 X 36.9 m® 0.89
AT As m* 0.89
T VEER - 54y T 0.023 X 0.04 X 73.8 m®| 0.068
WA T RC-40, t=16cm 0.60 X 36.9 m® 22.1
AR EAS(13)
FEIHT t=3cm 0.60 X 36.9 m* 22.1
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+t T e K

+TH47° 1-7 FIEHE As PP ¢ 13 DP=0.65m
+TIEE L= 3.3 e 3.3 m
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ % 8
T
i BEEET 5
| RC-40 =]
|
!
l W [smE0E] 0.600
a } DI %48 0.022
= 2 = IR BRH — pP_ | 40| 0.650
| RC-40 = Hi [HEE] 0.772
} H2 | #iHIE) 0.732
=P hl |#HE#M| 0.160
=k \ h | # & 0.422
| (o3
i S
[ —
| 5| =
‘ 8“
1 . 4
\ ¢D
( 3.3 m H7=0EE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 3.3 m 6.6
EhLERR B EE T As, t=10cmEA T 0.60 X 3.3 m’ 2.0
BoE T Btk mE+ 0.60 X 0.732 X 3.3 m* 1.4
LT RC-40 0.60 X 0.160 X 3.3 m’ 0.3
HWHBRLT HiH
HHELT b ( 0.60 X 0422 — 0.022 > X z,/4)x 3.3 m? 0.8
e
Ay W+ 1.40 m* 1.4
Fesf As 0.60 X 0.04 X 3.3 m® 0.1
AT As m* 0.1
T VEER - 54y T 0.023 X 0.04 X 6.6 m* 0.01
WA T RC-40, t=16cm 0.60 X 3.3 m® 2.0
AR EAS(13)
FEIHT t=3cm 0.60 X 3.3 m* 2.0
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3T.IX PP¢30,25, 13 &M 5578 (% FAEM)

ER Btk MR R U R BB | B
[##1]

RIzF L E ¢ 25 29.1 + 05 + 05 30.1 | m

A FLL 013 b 30 | m

PPLAR $ 25 5 5 i

PP/LAR 613 2 2 i

PV vk ¢ 13 1 1 A

PPREF—X 625X ¢ 13 1 1 G|

PPY 4w s 625 1 1 il

iR ¢ 25 19.4 + 6 25.4 m
[55%]

RYTFL R L 625 30.1 m

AU FL AR L 613 3.0 m

PPk T 025 14 5]

PPk T 613 7 8]

AU FL U ERET ¢ 25 30.1 m

R FL U ERET $13 3.0 m

AT L FIE T ¢ 25 5 5]

sy BESTGAF v 13 kg

EyiR RBEEF—X Vi
ElS s 025 5 X 0720 + 1 X 0970 + 1 X 0.750 5.3 kg
TR Vi
613 2 X 0.375 1 X 0.350 1.1 kg
FAsTYT Ok 6.4 kg
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4884

3T (fiedk - FAKHM) +TREFE

\ i T 2A7 HE- S ELA ISR

£ r 517 7 N N IER1-2 | E%1-2 | Ek1-4 | E%1-
(JH R B—*f) (%‘HB#) (MR B—*f) (ﬁifﬁ#)

SHEEEI T As, t=15cmPLF 7.4 4.0 11.4| m 11
ARAERREOET. | As, t=10cmPA T 2.2 2.2 1.2 1.2 6.8 m® 7
HEHI T ek g - 0.6 0.7 0.3 0.3 1.9 | m® 2
M EREL L RC-40 0.3 0.3 0.2 0.2 1.0 | m® 1.0
HHRL L i e m®
WHEL T b m®
Rty W 0.6 0.7 0.3 0.3 1.9 m® 2
T 1.9 m’ 2
PRy AL As 0.09 0.07 0.05 0.04 0.2 m® 0.2
sy As 0.09 0.07 0.05 0.04 0.2 | m® 0.2
TEIEE - L5 T 0.007 0.004 0.010 | m?® 0.010
AT RC-40, t=16cm 2.2 2.2 1.2 1.2 6.8 | m® 7
B IHT AR EEAS(13) t=3cm 2.2 2.2 1.2 1.2 6.8 | m? 7




+t T e K

T THA7 | %12 FIEHE As PP ¢ 25 DP=0.30m
+TIER L= 1.0 +2.7 = 3.7 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
| RC-40 =]
!
!
l W [smE0E] 0.600
a } DI |%4ME| 0.034
= 2 = IR BRH ~ pP_ | v [ 0.300
| RC-40 < H1 | hniE 0.334
1 H2 |dekilE] 0.294
i n2  [HEH| 0.144
: h [
|
|
D v_A
| [y
I\
|
{55 ¢D
( 3.7 m H=0EE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 3.7 m 7.4
EhLERR B EE T As, t=10cmEA T 0.60 X 3.7 m’ 2.2
BoE T Btk mE+ ( 060 X 0294 — 0.034 % X x,/4)xX 3.7 m* 0.6
LT RC-40 0.60 X 0.144 X 3.7 m? 0.3
HWHBRLT
HWHRELT
e
¥ sy weg 1 0.60 m’ 0.6
Fesf As 0.60 X 0.04 X 3.7 m® 0.09
AT As m* 0.09
T VEER - 54y T 0.023 X 0.04 X 7.4 m®| 0.007
WA T RC-40, t=16cm 0.60 X 3.7 m® 2.2
AR EAS(13)
FEIHT t=3cm 0.60 x 3.7 m* 2.2
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+t T e K

+TH47° | ER1-2 FIEHE As PP ¢ 25 DP=0.30m
+TEE L= 1.0 +2.7 = 3.7 m
(=R
< W L
BEE%As t=3cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
i RC-40 =]
!
|
l W [smE0E] 0.600
a } DI |%4ME| 0.034
= 2 = MRS R ~ pP_ | v [ 0.300
| RC-40 < H1 | hniE 0.334
1 H2 |dedilE] 0.304
i he  |#EM]| 0.144
: h [
|
|
C ‘—A
i (=
I\
|
RERE ¢D
( 3.7 m H=0EE)
4 Fr B R S Ik # " = Bl &
FiE==)] [ As, t=15emEL T
EhLERR B EE T As, t=10cmEA T 0.60 X 3.7 m’ 2.2
BoE T Btk mE+ ( 060 X 0304 — 0.034 % X x,/4)xX 3.7 m* 0.7
LT RC-40 0.60 X 0.144 X 3.7 m’ 0.3
HWHBRLT
HWHRELT
e
¥ sy weg 1 0.70 m* 0.7
Fesf As 0.60 X 0.03 X 3.7 m® 0.07
AT As m* 0.07
VGURTERE - 504 T
WA T RC-40, t=16cm 0.60 X 3.7 m® 2.2
AR EAS(13)
FEIHT t=3cm 0.60 x 3.7 m* 2.2
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+t T e K

T TH7 | %14 FIEHE As PP ¢ 13 DP=0.30m
+TIEE L= 2.0 e 2.0 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
| RC-40 =]
!
!
l W [smE0E] 0.600
a } DI %48 0.022
= 2| ° IR BRH ~ pP_ | v [ 0.300
| RC-40 < H1 e o322
1 H2 |dndili] 0.282
i n2  [#EEH] 0.132
: h [
|
|
D ‘-_A
i =
I\
|
RERE ¢D
( 2.0 m H7=0EE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 2.0 m 4.0
EhLERR B EE T As, t=10cmEA T 0.60 X 2.0 m’ 1.2
BoE T B wE 1 ( 0.60 X 0.282 — 0.022 2 X x,/4)xX 2.0 m’ 0.3
LT RC-40 0.60 X 0.132 X 2.0 m? 0.2
HWHBRLT
HWHRELT
e
¥ sy weg 1 0.30 m’ 0.3
Fesf As 0.60 X 0.04 X 2.0 m® 0.05
AT As m* 0.05
T VEER - 54y T 0.023 X 0.04 X 4.0 m®|  0.004
% A& T RC-40, t=16cm 0.60 X 2.0 m’ 1.2
AR EAS(13)
FEIHT t=3cm 0.60 X 2.0 m* 1.2
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+t T e K

+THh47° ] EE%1-4 FIEHE As PP ¢ 13 DP=0.30m
+TIEE L= 2.0 e 2.0 m
(=R
< W L
BEE%As t=3cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
i RC-40 =]
!
|
l W [smE0E] 0.600
a } DI %48 0.022
= 2 = BN 2R ~ pP_ | v [ 0.300
i RC-40 = H1 |mEng| 0.322
1 H2 [dndiliE] 0.292
i n2  [#EEH] 0.132
: h [
|
|
C v_A
| [y
I\
|
RERE ¢D
( 2.0 m H7=0EE)
4 Fr B R S Ik # " = Bl &
FiE==)] [ As, t=15emEL T
EhLERR B EE T As, t=10cmEA T 0.60 X 2.0 m’ 1.2
BoE T B wE 1 ( 0.60 X 0.292 — 0.022 2 X 7,/4)xX 2.0 m’ 0.3
LT RC-40 0.60 X 0.132 X 2.0 m? 0.2
HWHBRLT
HWHRELT
e
¥ sy weg 1 0.30 m* 0.3
Fesf As 0.60 X 0.03 X 2.0 m® 0.04
AT As m* 0.04
VGURTERE - 504 T
% A& T RC-40, t=16cm 0.60 X 2.0 m’ 1.2
AR EAS(13)
FEIHT t=3cm 0.60 X 2.0 m* 1.2
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K

B_J'I-

> FH BT 3 [N (T 2&*&)5-5%%(&75‘)

NETIKESBFICHIEKERRIE

HEFTHEE

AT X (fles%)

gluTh ETKES LKER
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4T.X PP ¢40, 30, 20, 13 &# 9785 (EX - FAHE)

4 T itk B ROHER R |
[#&#51]
ARYmF LA $ 40 1.5 3.9 + 53.1 585 | m
ARYmFLAE $ 30 65.1 62.8 1279 | m
FaAk12 FaKL3
ARYmF LA $20 0.5 3.7+ 3.7 7.9 m
Fakl fake FaAk3 Faka FaAkb [5¥NGl
ARYmF LA ¢ 13 0.5 30 + 3.0 + 35 + 15 + 38 + 15 168 | m
PP VAR 6 40 7 7 8
PP VAR ¢ 30 1 1 8
FaAk12 FaKL3
PP $20 1 2+ 2 5 8
Fakl fak2 Fa7Kk3 Faka FaAkb [5¥NGl
PP $13 1 4 + 4 + 2 + 2 + 2 + 2 17 8
PPHEZEF—X ¢ 40X ¢ 30 1 1 &
PPHEZEF—X ¢ 40X ¢ 20 1 1 &
PPEZEF —X $40X ¢ 13 2 2 &
PPHEZEF—X $30% ¢ 13 5 5 &
PPEE Aok ¢ 40X ¢ 30 1 1 8
PPEAE/ Iroh ¢ 40X ¢ 20 1 1 ]
PPEAE/ Iroh $30% ¢ 13 1 1 ]
fwKklz feKk13
PV $ 20 1 1 2 &
a1 o7k K3 fo7ka k5 fa7k6
PVYryh 613 2 2+ 1 + 1 + 1 + 8 &
VPH Rk 75X ¢ 40 2 2 ]
VSF vy 675 1 1 8
PRIR $ 40 1.5 1.9 + 05 + 516 555 | m
PRIR $30 65.1 62.8 1279 | m
PRIR $20 0.5 0.5 m
[F#]
RVxF L E TR T $ 40 58.5 585 | m
RVxF L E TR T $ 30 127.9 1279 | m
RVxF L E TR T $20 7.9 7.9 m
RVxF L E TR T ¢ 13 16.8 168 | m
TR Fm K L2 BRI
PPHEE T $ 40 14 8 + 2 + 2 26 5]
LR Foe A e
PPHEE T $ 30 2 11+ 2 15 5]
LR Foe A e
PPHEE T $20 10 1 + 5 16 5]
LR Foe A e
PPHEE T 613 34 7+ 07 58 5]
VPE
SRR U T 75X ¢ 40 2 2 (&
WHEE (L=
Yl T 75 1 1 5]
AN =N T 675 1 1 8
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ong

4T X (e - Tk TR

T XA
4 B V2 N N ER1-1 | RE%1-3 | %1 AR CE | Hifr|  REHE
(g% B—ff) (R B—*f) (R B—*f)

SO T As, t=15cmPA F 6.0 10.8 16.6 334 | m 33
EERUBUE 1. | As, t=10cmPA T 1.8 3.2 5.0 10.0 | m® 10
P T Bk B+ 0.5 0.9 1.4 2.8 [ m’ 3
MO REL T RC-40 0.3 0.4 0.7 14| m’ 1
DL T i 1 m’

WO REL T 1 m®

Py e+ 0.5 0.90 1.40 2.8| m’ 3
Heh T 0.5 0.90 1.40 2.8 [ m’ 3
PRI AL E As 0.1 0.13 0.20 0.4 [ m 1
By As 0.1 0.13 0.20 04| m’ 1
V5L - L5y T 0.01 0.010 | 0.015 0.03 | m® 0.03
oz 1 RC-40, t=16cm 1.8 3.2 5.0 10.0 | m® 10
AEIH T FABREAS(3) t=3cm 1.8 3.2 5.0 10.0 [ m® 10




+t T e K

T TH7 | %11 FIEHE As PP ¢ 40 DP=0.30m
+ TiER L= 1.5 +1.5 e 3.0 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
| RC-40 =]
!
!
l W [smE0E] 0.600
a } DI |%4ME| 0.048
= 2 = IR BRH ~ pP_ | v [ 0.300
| RC-40 < n1 | hniE 0.348
1 H2_ |dedilsE] 0.308
i n2  [#EH| 0.158
: h [
|
|
D ‘—A
i (=
I\
|
RERE ¢D
( 3.0 m H7=0EE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 3.0 m 6.0
EhLERR B EE T As, t=10cmEA T 0.60 X 3.0 m’ 1.8
BoE T Btk mE+ ( 060 X 0.308 — 0.048 2 X x,/4)X 3.0 m* 0.5
LT RC-40 0.60 X 0.158 X 3.0 m? 0.3
HWHBRLT
HWHRELT
e
¥ sy weg 1 0.50 m’ 0.5
Fesf As 0.60 X 0.04 X 3.0 m® 0.07
AT As m* 0.07
T VEER - 54y T 0.023 X 0.04 X 6.0 m®| 0.006
B M T RC-40, t=16¢cm 0.60 X 3.0 m’ 1.8
AR EAS(13)
FEIHT t=3cm 0.60 X 3.0 m* 1.8
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+t T e K

+TH47° ] HE%1-3 FIEHE As PP ¢ 20 DP=0.30m
+TIER L= 2.7 +2.7 = 5.4 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
g "\ ¢ 8
|
' | BT -
| RC-40 =]
!
!
l W [smE0E] 0.600
a } DI |%4hE| 0.027
= 2 = MRS R ~ pP_ | v [ 0.300
| RC-40 < n1 | HhiE o.327
1 H2 |didilis| 0.287
i n2  [HEH| 0.137
: h [
|
|
D ‘-_A
i (=
I\
|
RERE ¢D
( 5.4 m H7=0EE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 5.4 m 10.8
EhLERR B EE T As, t=10cmEA T 0.60 X 5.4 m? 3.2
BoE T Btk mE+ ( 060 X 0287 — 0.027 % X z,/4)X 54 m* 0.9
LT RC-40 0.60 X 0.137 X 5.4 m’ 0.4
HWHBRLT
HWHRELT
e
¥ sy weg 1 0.90 m* 0.9
Fesf As 0.60 X 004 X 5.4 m® 0.13
By As m? 0.13
T VEER - 54y T 0.023 X 0.04 X 10.8 m®| 0.010
WA T RC-40, t=16cm 0.60 X 5.4 m® 3.2
AR EAS(13)
FEIHT t=3cm 0.60 X 5.4 m* 3.2
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+t T e K

+THh47° ] EE%1-4 FIEHE As PP ¢ 13 DP=0.30m
+TIEE L= 1.0+1.0+2.5+0.5+2.8+0.5 = 8.3 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
| RC-40 =]
!
!
l W [smE0E] 0.600
a } DI %48 0.022
= 2 = IR BRH ~ pP_ | v [ 0.300
| RC-40 < H1 e o322
1 H2 |dndili] 0.282
i n2  [#EEH] 0.132
: h [
|
|
D ‘—A
i (=
I\
|
RERE ¢D
( 8.3 m L47=hEE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 8.3 m 16.6
EhLERR B EE T As, t=10cmEA T 0.60 X 8.3 m’ 5.0
W OE T K wE+ ( 060 X 0282 =— 0.022 % X x,/4)X 83 m? 1.4
LT RC-40 0.60 X 0.132 X 8.3 m’ 0.7
HWHBRLT
HWHRELT
e
Ay W+ 1.40 m* 1.4
Fesf As 0.60 X 0.04 X 8.3 m® 0.20
By As m? 0.20
T VEER - 54y T 0.023 X 0.04 X 16.6 m®| 0.015
WA T RC-40, t=16cm 0.60 X 8.3 m® 5.0
AR EAS(13)
FEIHT t=3cm 0.60 X 8.3 m* 5.0
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AT.X PP¢30, 25, 13 &M 978 (k- FT/AKHE M)

4 T s MR TR R |
[E41]
RYmF L ¢ 30 5.8 5.8 m
RYmF L ¢ 25 29.7 297 | m
K5 KT faks ke BRI AL
Ry F L ¢ 13 139 + 05 + 38 + 15 + 15 + 28 + 15 + 23 278 | m
PPTLAR $ 30 1 1 &
kG kT ks farko K10
PPLR ¢ 13 4 + 2 + 2 4+ 2 + 2 + 2 14 &
PPREF—X 30X ¢ 13 3 3 &
PPREF—X 025X ¢ 13 2 2 &
PPRAEE/ vk $30X ¢ 25 1 1 &
PPRAEE/ vk 025X ¢ 13 1 &
K5 KT faks ke K0 AL
PV 4wk ¢ 13 I+ 1+ 1 + 1 + 1 + 1 6 &
G| ¢ 30 5.8 5.8 m
PRI $ 25 29.7 29.7 m
[55%]
R FL AL $30 5.8 5.8 m
AU L AT ¢ 25 29.7 297 | m
AU L AT ¢ 13 27.8 278 | m
B Fr K Virvh
PP#iF L $30 2+ 6 o+ 1 9 O
B Fr K Virvh
PP#iF L $25 + 4+ 2 6 O
B Fr K Virvh
PP#iF L ¢ 13 28 + 5+ 13 46 O
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493&4

AT R (% FAHE ) + THEGHEE

T LEAT ARlEcE (AL BGEHE
E i T =S [ T S B
(AR

AL BT T As, t=15ecmPL F 44.6 44.6 | m 45
SHEERREUE T | As, t=10cmPA T 13.4 134 | m’ 13
P T bR AYE L 3.8 3.8 m’ 4.0
ML T RC-40 1.8 1.8 | m* 2
M L L v m®
HSHEREL L 2 m’
F LAy E +- 3.80 3.8 m’ 4
BT 3.80 3.8 [ m’ 4
PRSP As 0.54 0.5 m’ 1
FRILAL As 0.54 0.5 [ m® 1
TG URSER - 4153 T 0.041 0.04 | m® 0.04
BT RC-40, t=16cm 13.4 13.4 | m® 13
RAg1H T FESREAS(3) t=3cm 13.4 134 | m® 13




+ T % & *
+THh47° ] EE%1-4 FIEHE As PP ¢ 13 DP=0.30m
+TIEE L= 13.9+2.8+0.5+0.5+1.8+0.5+2.3 = 22.3 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
i RC-40 3
!
|
l W [smE0E] 0.600
a } DI %48 0.022
= 2 = IR BRH ~ pP_ | v [ 0.300
| RC-40 < H1 e o322
1 H2 |dndili] 0.282
i he s 0.132
: h [
|
|
D ‘—A
i =
I\
|
RERE ¢D
( 22.3 m N7k )
4 Fr B R S Ik # " = Bl &
i LT T As, t=15emEL F 2.00 22.3 m 44.6
AL EE T As, t=10emPL T 0.60 22.3 m? 13.4
BoE T B wE 1 ( 0.60 0.282 — 0.022 > X gm,/4)X 223 m’ 3.8
LT RC-40 0.60 0.132 X 22.3 m’ 1.8
HWHBRLT
HWHRELT
Rl
¥ sy weg 1 3.80 m* 3.8
Fesf As 0.60 0.04 X 22.3 m® 0.54
AT As m* 0.54
T VEER - 54y T 0.023 0.04 X 44.6 m®|  0.041
WA T RC-40, t=16cm 0.60 22.3 m® 13.4
AR EAS(13)
FEIHT t=3cm 0.60 22.3 m* 13.4
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NETIKESBFICHIEKERRIE

HEFTHEE
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Bl ETKER LEKER
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51X PP ¢ 25,

13 Bh-97%5 (- TRMB)

4 T itk B ROHER R |
[#&#51]
ARYmFLAE $25 77.1 77.1 m
ARYmF LA ¢ 13 0.5 0.5 m
PP VAR 625 2 2 8
PVILAR 625 2 2 8
PVILAR 613 1 1 8
PPHEZEF—X $25% ¢ 13 1 1 &
(SN ¢ 25 50.7 507 | m
[955%]
R F L E TR T $25 77.1 77.1 m
RYmF L E A7 T 613 0.5 0.5 m
AR Fr R
PPHEF T $25 8 2 10 5]
TR Fm K
PPHEF T $13 2 1 3 5]
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ST (fieak - FRMHE)) TR

46?‘

T XA
4 W ®oR B [ k2 | k- AR | R BGHE
(g% B—*f) (g% B—*f)

SO T As, t=15cmPA F 52.8 1.0 53.8 | m 54
EERUBUE 1. | As, t=10cmPA T 15.8 0.3 16.1 [ m® 16
P T Bk B+ 4.6 0.1 4.7 m’ 5
MO REL T RC-40 2.3 0.1 24| m’ 2
DL T i 1 m’

WO REL T 1 m®

Py e+ 4.6 0.10 4.7 | m’ 5
1 4.6 0.10 4.7 | m’ 5
PRI AL E As 0.6 0.01 0.6 m® 1
PRSI B As 0.6 0.01 0.6 [ m’ 1
V5L - L5y T 0.05 |  0.001 0.05 | m® 0.05
oz 1 RC-40, t=16cm 15.8 0.3 16.1 | m® 16
AEIH T FABREAS(3) t=3cm 15.8 0.3 16.1 | m* 16




+t T e K

T THA7 | %12 FIEHE As PP ¢ 25 DP=0.30m
+ TR L= 244 4+ 2.0 = 26.4 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
2 "\ ¢ 8
|
' | BT -
i RC-40 3
|
!
l W [smE0E] 0.600
a } DI |%4ME| 0.034
= 2 = IR BRH ~ pP_ | v [ 0.300
| RC-40 < H1 | hniE 0.334
1 H2 |dekilE] 0.294
i he  |#EM]| 0.144
: h [
|
|
D v_A
i =
I\
|
RERE ¢D
( 26.4 m N7l )
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 26.4 m 52.8
EhLERR B EE T As, t=10cmEA T 0.60 X 26.4 m? 15.8
BoE T B wE 1 ( 0.60 X 0.294 — 0.03¢ 2 X x,/4)x 26.4 m’ 4.6
LT RC-40 0.60 X 0.144 X 26.4 m’ 2.3
HWHBRLT
HWHRELT
Rl
¥ sy weg 1 4.60 m* 4.6
Fesf As 0.60 X 0.04 X 264 m® 0.63
AT As m* 0.63
T VEER - 54y T 0.023 X 0.04 X 52.8 m®|  0.049
B T RC-40, t=16cm 0.60 X 26.4 m® 15.8
AR EAS(13)
FEIHT t=3cm 0.60 X 26.4 m* 15.8
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+t T e K

+THh47° ] EE%1-4 FIEHE As PP ¢ 13 DP=0.30m
+ TR L= 0.5 = 0.5 m
(R ERE)
< W L
BEE%As t=4cm EE | EBR REIH BARAAs t=3cm
g "\ ¢ 8
|
' | BT -
i RC-40 =]
|
!
l W [smE0E] 0.600
a } DI %48 0.022
= 2 = MRS R ~ pP_ | v [ 0.300
| RC-40 < H1 e o322
1 H2 |dndili] 0.282
i n2  [#EEH] 0.132
: h [
|
|
D ‘—A
i (=
I\
|
RERE ¢D
( 0.5 m 47=h¥EKE)
4 Fr B R S Ik # " = Bl &
B DI T As, t=15emEL F 2.00 X 0.5 m 1.0
EhLERR B EE T As, t=10cmEA T 0.60 X 0.5 m’ 0.3
BoE T B wE 1 ( 0.60 X 0.282 — 0.022 2 X x,/4)X 0.5 m’ 0.1
LT RC-40 0.60 X 0.132 X 0.5 m’ 0.1
HWHBRLT
HWHRELT
e
¥ sy weg 1 0.10 m* 0.1
Fesf As 0.60 X 0.04 X 0.5 m® 0.01
AT As m* 0.01
T VEER - 54y T 0.023 X 0.04 X 1.0 m®|  0.001
WA T RC-40, t=16cm 0.60 X 0.5 m® 0.3
AR EAS(13)
FEIHT t=3cm 0.60 X 0.5 m* 0.3
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